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SECTION - II

MATHEMATICS
26. Rutuja had some amount. She distributed it among 47 students. When she

Q
3

‘i’
mAw

gave Rs. 50 to each student, Rs. 37 were left with her. How much amount
did she have?

(1) Rs. 2350 (2) Rs. 2387
(3) Rs. 2313 (4) Rs. 1897

27. 2 lakhs + 13 thousands + 72 hundreds + 38 tens + 13 units = ?
(1) 220593 (2) 213733813
(3) 22033813 (4) 220393

28. 2 tens + 3 units + 5 hundredth + & one tenth = ?
(1) 23.58 (2) 2358
(3) 238.5 (4) 23.85

29.  Select the incorrect option from the given alternatives.

I Ream = papers
(1) 20 quires (2) 40 gross
(3) 480 sheets (4) 40 dozen

30. The sum of two numbers is 39.62. If one number is 1.259 then what will be
the other number?

(1) 2.703 (2) 27.03
(3) 38.361 (4) 40.879

SPACE FOR ROUGH WORK
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(1) 2350 (2) 2387
(3) 2313 (4) 1897

2 Qéﬁ 13 7T + 72 333 + 38 TI3 + 13 OIB = @%—-’%‘?
(1) 220593 (2) 213733813
(3) 22033813 (4) 220393

2 3% + 3 033 + 5 T203 + 8 Two3 = R?
(1) 23.58 (2) 2358
(3) 2385 (4) 23.85

TSNS TOIRFODNY Fd O TOIRFOD  OIRETTNT DOWITR), BORO.
103F = ®no

(1) 20 =3 2) 40 Reew®

(3) 480 (4) 40 BSPT*

TR FoBnY ededezd 39.62 9. BWOY 2o Fosd, 1.259 2rY HTBEEOD
Sosd, oIRRT?

(1) 2.703 (2) 27.03

(3) 38.361 (4)  40.879
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31. What will be the simple interest on the principal of Rs. 5000 at 7 p.c.p.a in

3 years?
(1) Rs. 10500 (2) Rs. 105
(3) Rs. 1500 (4) Rs. 1050

32. Neha walks daily to complete 5 rounds along a triangular ground whose every

side is 100m. Then, How much distance does she cover walking around the
ground in one week?

(1) 12 km

(2) 3 km 500 m
(3) 14 km 500 m
(4) 10 km 500 m

33.  Select the correct option from the following expressions.

(1) 24 — 12+ 3 x5=27

2) 18 -10+3 x2=2
3) 15x12-2+4=176
4) 18 +30+3 x2 =32
34 Which of the following angles has measured less than % times of 360°?
(1) Right angle (2) Obtuse angle
(3) Acute angle (4) Reflex angle

SPACE FOR ROUGH WORK
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(1) 12 3.Q0¢

(2) 3 3.c0¢ 500 oee3T®
(3) 14 8.Q0¢ 500 &0ee3T°
(4) 10 8.20¢ 500 Q0eL3T°

NSN3 ToenAch odeen, w33 AddT FJaIRECD SORD.
(1) 24 - 12 +3 x5 =27

2) 18 -10+3 x2=2

(3) 15x 12 -2 +4 =176

4) 18 +30 + 3 x 2 =32

$INSINS [ oINS ST @98 360° T BNoS A 2TYT?
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(3) oPORRES (4) ToodRe
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35. There are 1600 students in a school. What will be the number of boys in the
school, if there are 48% girls?

(1) 768 (2) 832
(3) 52 (4) 640

e

0.

>

36. Joseph bought 2 pens at the rate of Rs. 12 and 50 paisa and 5 pencils at the
rate of Rs. 5 and 25 paisa. How much amount did he spend on his purchase?

()

(1) Rs. 17.75 2) Rs. 51.25
(3) Rs. 35.25 4) Rs. 37.25
37.
+ + = How much?
127 7
1) @) g
127 1
3) i 4 5

38. Double of the common factors of two co-prime numbers is
(1) Smaller of the two co-prime numbers.
(2) Greater of the two co-prime numbers.
3 1
4 2

SPACE FOR ROUGH WORK
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% Instruction for Question No. 39 and 40.
S
g Solve the questions referring to the pictorial diagram given.
E:il:i Scale : (1 @ = 20 trees)
@ Participating schools in tree plantation No. of trees planted
RS>
?2" Dnyanda Vidyalaya @ @ @ @ @
Vidya Niketan School @ @ @
Z. P. Primary School @ ({;}
Sadhana Vidyalaya @ @ @ @
Adarsh Vidyalaya @ @ @
39. How many more trees did Dnyanada Vidyalaya plant than Sadhana Vidyalaya?
() 1 2) 9
(3) 20 4) 50

40. How many trees were planted in all, by the participating schools during the
tree plantation programme?
(1) 17 (2) 340
3) 20 4) 170

41. Eight thousand seven hundred and twelve + Twelve thousand seven hundred
and fifty = How much?
(1) 21462 (2) 22462
(3) 20962 (4) 21962

SPACE FOR ROUGH WORK
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AT DTOOD

RFCRET FCPFTTO WOBNFE ITYPN ToSATY %), IR, ﬁcéﬁ%fdi %a;;cﬁdd?
(1) 17 (2) 340
(3) 20 4) 170

D0 TONTTTO RPOIRTD S§d® + a\idcéa m%g@o T3 =
(1) 21462 (2) 22462
(3) 20962 (4) 21962
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42.

43.

44.

45.

Soham exchanged 6 notes of Rs. 2000 with equal number of notes of Rs. 100
and Rs. 50. How many notes of Rs. 100 will he get?

(1) 120 (2) 40
(3) 80 4) 160

Using the digits 3, 2, 5, 0, 8 atleast once, a smallest 6 digit odd number is
formed. What will be the product of the digits at one’s and hundred’s place?

(1) 24 2) 40
3) 15 4) 16

Nisha sold an article at Rs. 1730 which she had purchased at Rs. 1350. How
much profit or loss did she make?

(1) Rs. 420 profit (2) Rs. 380 loss
(3) Rs. 420 loss (4) Rs. 380 profit

A cube i1s formed by folding the adjoining figure.
Which digit will not appear on the cube, to the
adjacent side of 4? 9 4

(1) 16
2) 36
3) 25
@4 9

36 | 16

25

SPACE FOR ROUGH WORK
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BREBII) 2000 THRTIOONY 6 dfaemmfmq W2 100 TRTDC TN 50
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BRI ?

(1) 120 (2) 40
(3) 80 4) 160

3, 2,5 0, 8 33 F803R0o @o%ﬂ%ﬁdoq %2’0‘-’@% 2000 RO VBC3PCNY 3803
DYBR W DT FosS, FOINORLRN DFF Tore IIT AWSE WOFNY MoTed
DR, BOF?

(1) 24 (2) 40

3) 15 4) 16

Ry 1350 TRwTRCNRYR SREIER0RE womd ®BWIY, 1730 Semooonen
BROTWD. B3 FRHOTY, R9R AR, 00 B0 TR 08?7

(1) 420 BRTOD g (2) 380 SRTIOW To
(3) 420 SRTOW TV (4) 380 SRTOW <Y

WOOD ST R Tod FT FOINORTWN 4 85 08 YT
BREPONG WOHOH JFFRYPNG BdeeS 03Res 89o8 WIRY?

1) 16 2] 4
2) 36 36 | 16
(3) 25 25

“4) 9
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46. Which of the following statements is FALSE, with respect to triangular numbers

and square numbers.

(1) Half the product of 2 consecutive numbers gives a triangular number.

e

0.

(2) 1 1s triangular as well as square number.

(3) When a number is multiplied by the number itself, the result is a square

number.

(4) The product of two consecutive numbers is a triangular number.

47.  What will be the 5" number, from left side when the 2 digit numbers divisible
by 12 are arranged in descending order?

() 60 2) 12
(3) 48 4) 36

48. Out of 12 km 300 m distance, Afroz covered 9 km 500 m distance on bicycle.
She covered the remaining distance running. How much distance, did she cover

running?
(1) 2.8 km (2) 2.800 m
(3) 3.200 m (4) 21.800 km

49. For a trip in the month of May, Swara booked air tickets in advance for
Rs. 5780. Due to some reason, she had to cancel the ticket. She got an amount
back with the deduction of 30%. How much loss did she suffer?

(1) Rs. 1734 (2) Rs. 1534
(3) Rs. 1724 (4) Rs. 1504

SPACE FOR ROUGH WORK
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46.

47.

48.

49.

23R TR WROT Foine Wil FNIINY FHE IRT DI IS

(1) 8@ 3RRAE Bend rommod errDu) IREmR §iee Fodd,
SRS,

(2) 1 2 83ped Tone ¥PCR ZoL 9T

(3) 3w, Todn wile Foadolow MIBATRNR BRSNR Fosd, 1PTI
5033,03RNTE.

(4) 0@ IRPNRS BogNY MoFeses BN §Beed T, BRTOIIERD.

12 00T QYo% QTR HTROS ﬁo@%ﬁ%ﬁd& BPF ZROTE) TWIORATIN DBWLOWOTI
NTJ0D Boad, oIRFT?

(1) 60 2) 12

(3) 48 4) 36

wFdeemed 12 8.50¢ 300 Q0eeT @oBTTFE 9 8.c0e 500 Q0ees @oédd&q
FCDTOROT BooR WRBTE. LV9T @oézﬁﬁ&z{ R WO TREFT TRRTL;
TOMRTT BRI ARW), BOBTDRY, LEIZ TEF BRRTE?

(1) 2.8 3.50¢ (2) 2.800 Qe
(3) 3.200 sweesd (4) 21.800 3.50¢

BooEd e SonYTY, BEwRg Teens FLomN PFOWT DY, RRTT =0oNnE
@3‘8%3&’% 5780 BRTPCWVN SRR, STT FOzy) TOTLDROTIIN 33380 €3 @3‘8%3&’% 33,
TRRTD. SR 30% DO RVOTIBROBY NPT HH LWRENR BRTOWBD ToTWHT
BoOOT W), B, BOW?

(1) 1734 BRToW (2) 1534 BRTOW

(3) 1724 SRZOW (4) 1504 SRZIOW
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50. Which of the following statements is false?

(1) Cuboid is three dimensional.

(2) Cuboid has 12 edges.

e

(3) All surfaces of a cuboid are square in shape.

(4) Length, breadth and height of a cuboid can be measured.

51. How will you write twenty two thousand two hundred and fifty in international

number system?
(1) 22150 (2) R0
(3) R340 (4) 22250

52. What is the perimeter of the adjacent figure?

2 cm
8
g 2 cm ~
9
© :
(5]
(g}
2 cm
>
(g\]
4 cm
(1) 16 cm (2) 36 cm
3) 18 cm (4) 30 cm

SPACE FOR ROUGH WORK
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50,  3INIDNS Fp ORI TWNE?
(1) 22Eaes8030 &0oNTNTOIT.
(2) aaEesdnt 12 ©ouned Qddgs.
(3) ARFTOWSAD Y, FFNE WPTATT N,
(4) BAFRIZOD NG, LR TeMe HFT WIODWI WITT.

51, ‘OBIOW WO WAT B FoF 00 WOTTTIROD Aoy WHODY, ITerk

)

LT030N0?
(1) 22150 (2) 990%0
(3) 999%0 (4) 22250

52, 39NT =30 TowE ), F.a0e al?

2 3.0
e W’
© 2 3.80¢ o
3
¥
g 2 3.0
¥
4 F.200
(1) 16 =.e0¢ (2) 36 =.c0¢
(3) 18 A.ewe 4) 30 A.eoe
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53.  Dilip purchased a motorcycle for Rs. 35900. He spent Rs. 3780 on its repairs.
After some days, he sold the motorcycle for Rs. 40750. How much profit did
he make in this transaction?

(1) Rs. 1070 (2) Rs. 4850
(3) Rs. 36970 (4) Rs. 32120

QOB O

e

54. At a ration shop, 85 sacks of wheat, 50 sacks of rice and 15 sacks of tur dal
was available for sale. If every sack contained 40 kg of grains, How much
grains in kilograms, were available for sale?

(1) 150 kg (2) 600 kg
(3) 6000 kg (4) 4000 kg

55. Which amongst > , < or = will be appropriate to fill in the boxes between,
the below given fractions.

3 6 7
sl s )y
M =, > @ <.<
) >, < “4) =, <

56. Pick out the wrong statement from the given statements.
(1) The product of any number and zero is zero.
(2) Multiplication of odd number with other odd number results in even number.
(3) Multiplicant x Multiplier = 0. Then either Multiplicant or Multiplier is zero.

(4) When same digit appears at the one’s place in two numbers then 8 will
not appear in one’s place of their product.

SPACE FOR ROUGH WORK
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53.

54.

5S.

56.

QOETTO 35900 TRTOWNT 2,000 HeeWD® FTF DOLQITZ. WTT OFeomoN
3780 TRTWOW WNF RRBTI). FOR)AING I0IBT L9RZ) ¢ WBRCEIT” %5@59%
40750 TRTCNIR [ROTTY; TMPET DOCTAN SBHTITTY, &), Ty
Clovorcol]

(1) 1070 TR (2) 4850 TN
(3) 36970 SRR (4) 32120 SRTEWRD

WOTN @rj\ddd %, LORRODNY 85 wWew Reed), 50 wWew @, 15 wew SRNndes
BRTLWTYN FTLPOWRD. woTd Fes BB Wewnd 40 3.1, 0 T, AT

S LONRBONY, Wedd, DT, 3.7, (0 TOF; VRTNTYN STORCWEI?

(l) 150 %.TT_Q)?SO (2) 600 %.TT_a)eSO
3) 6000 3.no, .0 4) 4000 3.no, .0
9 S 23

BINT PTor 08NY I Q0T PTITY >, < e = ARINY F3 0WRES
w3 odeery endTTO?

3 6 7

A A

(1) = ) > (2) < > <

3) >, < 4 =,<

3083, QGORNY TP T AT MITOERD.

(1) oInYse Tosd, Tonp BRT, VRNY MOFFTT 3RT, L.

(2) onRTe IR Bodnt QWS> FoFoWorm MorsITEN UZT IR Fos
WTORYT.

(3) Moy x 7T = 0 YFT MO, WFmo TS IRF, QTS

(4) oINPT 2B B NY DFFAITY, ABNT w08 VFT NOFTR DFTWITY,
8 83 ©od WA,
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57. Roshni needed 1 hr. 30 min. to travel from Nagpur to Wardha. She took rest for
15 min. She completed Wardha to Yavatmal distance journey in 1 hr. 50 min.
If Roshni had started from Nagpur at 10 in the morning then at what time
will she reach Yavatmal?
(1) 20 min. past 1 (2) 35 min. past 3
(3) 35 min. past 1 (4) 35 min. past 12

e

58. The labour charge to paint a rectangular wall at the rate of Rs. 45 per sq.m.
is Rs. 2700. If the length of the wall is 15 m, what must be the breadth of

the wall?
() 3 m (2) 180 m
(3) 60 m (4 4m

59. 12 kg + 1350 gm = How much?
(1) 1362 kg (2) 1362 gm
(3) 13.350 kg (4) 13.350 gm

60. Yogesh received Rs. 72 and 5 paisa as interest on his deposits in bank. How
will you write this in decimal form?
(1) Rs. 72.05 (2) Rs. 725
(3) Rs. 72.50 (4) Rs. 72.005

61. A merchant bought 300 sacks of wheat at Rs. 2500 per quintal. Due to heavy
rains, 70 sacks of grains were destroyed. He sold the remaining sacks at the
rate of Rs. 2700 per quintal. How much profit or loss did he make in this

transaction?
(1) Rs. 60000 profit (2) Rs. 129000 loss
(3) Rs. 175000 loss (4) Rs. 46000 profit
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57.

58.

59.

60.

61.

CRCESAN ToNYRT DO Bos T3 @m#@bﬁ 1 303 30 QDN WBemTR).
15 Q0WONT QT08 TWBED W WHoF Q0T 0NWIHRY B3 Jyzsos 1 300 50
QORONYY, For BRRTW. 2,00 HFed TReBACIN w9 10 R0t FoNRFRSHT

mdwcécﬁ 95350 ojodémeﬁ'oi ew:ow no3n m@s%dd%ﬁo?
(1) 1 no&d 20 &we. (2) 3 notd 35 &we.
(3) 1 mo&s 35 &we. (4) 12 Rotd 35 Qwe.

2,000 SODTITT RACER e, IRBWORTTN 45 TRTIW T8 wPTIT
Go00T 2700 TRTHOW 3RO IREWENIZS. .omd Hed nredod «ug 15

Q03T BTGB & RREEOD WNY QRD, QWD ATIRT?

(1) 3 &weesd (2) 180 &eesd
(3) 60 e (4) 4 &oewd
12 8.m, 0 + 1350 T3 0 = Q&2

(1) 1362 &1 0 (2) 1362 ™ 0
(3) 13350 8.m, 0 (4) 13350 ™ 0

cdperteddnt 239,087, BesedoReReeS TG TRFTCW T FF W, BRSCED.
DMWY 83 R0, 030R) BI3 THODNY, Tert WTODRNRITTO?

(1) 72.05 SRTOW (2) 72.5 TRTDOW
(3) 72.50 SRTOW (4) 72.005 BRTOCW

L8, FRTROIN 2500 T $ouer TOROTW RREHOD 300 Weonds) SREBROTED.
@éewwo&)omﬁ eﬂ@ﬁej@ 70 23ee OF, DT, GVIT ﬁme@oﬁa WeoOne,
@dﬁg 2700 SRR T 3o8e* ddc‘bod RIROTZY. TOMOWT N =
RPHITFY, SRy Re @qﬁm TOD TR HR)?

(1) 60000 SRTX &3 (2) 129000 SRTWW T

(3) 175000 SRTDOW T (4) 46000 SRZD @3

eI émw FOTTN

0801-Kannada Set-A 25 of 32 P.T.O.




62. For flood victims at Kolhapur, 5 social organisations contributed Rs. 12870,
Rs. 13850, Rs. 9640, Rs. 25390, Rs. 7450 respectively. How much total relief
fund was collected?

(1) Rs. 126250 (2) Rs. 222910
(3) Rs. 66750 (4) Rs. 69200

Q0B

e

Q0.0

K

63. During a 3 day Drama festival, at the auditorium, out of 1250 seats, 12% seats
remained vacant on the first day, 10% seats were vacant on second day and
on third day 4% seats remained vacant. How many seats remained vacant in
total, during the three days?

(1) 150 (2) 250
(3) 325 4) 350

64. If 15" March is Monday, then which day will occur 5 times, in that month?
(1) Thursday (2) Wednesday
(3) Friday (4) Saturday

65. If the radius of a circle is % cm, then what is its diameter in cms?
(1) 3.5 cm (2) 14 cm
3) 35 m (4) 7 cm

66. The numbers 78312, 78135, 78351 and 78531 are arranged in descending order.
What will be the sum of the 15t number and 3" number from the right side?

(1) 156882 (2) 156447
(3) 156843 (4) 156446
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62.

63.

64.

6S.

66.

BRURERTEOD FPTMIT ﬁ@ofoaﬁﬁ 0T FETEPR ROTLTCITT
©30BToweN T12870, 13850, 9640, 25390, T7450 o R0
BRRTD. TMTT 2ed), DR, SRTHOW ITIOIH BN T0W0B?

(1) 126250 Grwoomd (2) 222910 Brwoowd
(3) 66750 Srmocd (4) 69200 Brwocd

BT DT 8 OTRSFHY, Ty, APNTE 1250 SITNGY, BrmooDd
0T 12% 2TBI0HL OF 10% Tone BRCIOD AT 4% SIATAD AR YU9TY);
TOMOTT BRTY OFNTY, 2ed), SR, SITND 9D Lu9TR)?

(1) 150 (2) 250
(3) 325 (4) 350

15 @09e3F om0 RReIeT AW, TGS & SoNYSY. 03R® W90 N AV
2B ?

(1) moTees (2) 22393

(3) 3BT (4) 3=

2,000 JBFIT &, % .50¢ 9T, TMPTT €TV R R, F.80¢ ATRTO?
(1) 3.5 3.Q0¢ (2) 14 3.a0¢

(3) 3.5 awe 4) 7 3.0¢

78312, 78135, 78351, 78531 B3 RosynvRy w9 FROTEY, WIHR SWYRLYLD
BRTOITOD TN WOWAC0T RTZOD m’o@%rﬁ@ 230002 oba’%‘?

(1) 156882 (2) 156447
(3) 156843 (4) 156446
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67. Fifteen litres two hundred ml. — Thirteen litres five hundred and
thirty ml. = How much?

D€

(1) Two litres six hundred and seventy ml.
(2) 1.670 ml.
(3) One litre six hundred and seventy ml.
4) 2.670 ml.

I~
v
KO

68.  Which of the following is completely divisible by 3?

(1) 7553 (2) 1733
(3) 2352 (4) 9851
69. . ) . . ) ) 14

Which of the following expressions is equivalent to the fraction f?
3_2 8 6

M 7-7 2 575
4,3 5,2

3 55 @ 7+7

70.  Pranav wants to buy a plot for Rs. 2417300 but he has Rs. 712300 with him.
He will have to arrange the remaining amount from bank loan. How much
amount should he borrow as loan?

(1) Rs. Seventeen lakhs five thousand

(2) Rs. Seventeen lakhs fifty thousand

(3) Rs. Seventeen lakhs

(4) Rs. Seventeen lakhs five thousand and three hundred

71. 12 hours 18 min. — 6 hrs. 45 min. = how much?
(1) 5 hrs. 73 min. (2) 5 hrs. 33 min.
(3) 5 hrs. 78 min. (4) 6 hrs. 27 min.
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67.

68.

69.

70.

71.

BOFTO Oee3T HTRTRDD .9 — TO Bwedd DeiT RTOTRTD B[RRI
0.9¢ = QR?
(1) TR DT STORRTY 2Ty @0.Oe

2) 1.670 &0.9¢
(3) 2,000 96T STORRTY 2T 0.9¢

@) 2.670 20.9%.

IINTINGY, 03w FosdR SweTo0s IFeRN LN BREMIZHS?
(1) 7553 2) 1733
(3) 2352 (4) 9851

11 3 eamrodn) cinm Boinreds ATRE, STREFTING?

(1)
3)

2

-7 (2)
3
5

6
5
@ S+2

wA W
. U|oo

+ +

TeaWIN 2417300 TRETDC0I 83 0D TWRBERNT. ST &S BT 712300
CRTIOINYI. VT3 asaagﬂ 239,08008 W SREBRWROT. TMTT &
AR, TEO WO RBERYLITNRTEO?

(1) TOIeed ©F T T

(2) TOFed ©F [Ty AT

(3) TOFed g

(4) BOIeh ©F VW AWATERRTIZRTY

12 3030 18 Q0. — 6 3030 45 . :@a{%?
(1) 5 == 73 Q. (2) 5 RO 33 Qw.
(3) 5 >R 78 Q. (4) 6 3RO 27 .
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72.

73.

74.

7S.

What is the sum of all the divisors of 90?
(1) 233 (2) 228

(3) 204 (4) 234

If the fractions are arranged in ascending order, what will be double of the
fraction at the second last place?

1 1 1 1
£4°7>8°2°5
2 2
1 = 2) 3
1 2
3) 5 4 5

Ramesh and Sudha deposited same amount at two different places. Ramesh got
interest at 8§ p.c.p.a. and Sudha got interest at 7.5 p.c.p.a. If Ramesh has got
Rs. 500 more than Sudha, then find the amount that Ramesh had deposited.

(1) Rs. 100000 (2) Rs. 50000

(3) Rs. 7500 (4) Rs. 150000

Choose the correct option to fill in the box.
932004 — [ | = 59896
(1) 991900 (2) 927892

(3) 857898 (4) 872108
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72.

73.

74.

75.

90 T @@, NERENY wWedewd T)?
(1) 233 (2) 228

(3) 204 (4) 234

éfa@gj @‘-Q@mroéﬁ%ﬁ@ 00T ZTTE BOoBITN BRFOW0T DTBEICL 2505w 08T
@ddm% @%—-’%‘?

ENI[\S)
W

(1) ()

G % @ 3

TR0e3 0T AT VWD WO JRFW ALOTON AVRD BRI, Wed 36T
AYNYY Besed 0w Q. THeBIR B.:8.%8.3 8 TOWOT Terie RGN B,
2.3.3 7.5 30003 WA BRBE0R; .00 B¢ TBeBIN ROGNCT 500 TRTIW

BN BRTETT TSR ), BeaWRY, W0V, BeRed ALIRERO?
(1) 100000 (2) 50000

(3) 7500 (4) 150000

20T WPFFY, Wi cdeer, KUBSE BOIRFAD SORD.

932004 — [ ] = 59896
(1) 991900 (2) 927892

(3) 857898 (4) 872108
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